






� %NWVEJ�2WOR�-KV�
� ��������
� 'RGJH����/�
� :LWK��$�&�
� ��������
�

I N S T A L L A T I O N  I N S T R U C T I O N S  
 

016'��5WEVKQP�JQUG�VQ�RWOR�OWUV�DG�C�YKTG�DTCKF�JQUG��OKPKOWO����+�&��HQT�������
)2/�RWORU���������+�&��HQT���������)2/�RWORU���+PUVCNNCVKQPU�YKVJ�UOCNNGT�UWEVKQP�
JQUGU�YKNN�XQKF�VJG�RWOR�YCTTCPV[��

 
 1.    Disconnect battery. 
 
2. Remove OEM belt. 
 
3. Remove OEM tensioner by removing center bolt (14).  Remove OEM idler pulley and washer from 

tensioner. 
 
4. A notch must be ground in the back of the tensioner to clear the alternator.  Grind back .350” from the 

edge and .450” deep (to edge of spring where it comes through the tensioner).  See Fig. 7. 
 
 5. Install DewEze idler pulley (2) on tensioner using OEM shoulder bolt (13).  Do not use OEM washer 

that was on rear of OEM idler. 
 
 6. Replace tensioner using OEM bolt (14). 
 
 7.     Remove OEM alternator top bracket and its two mounting bolts. 
 
 8. Remove OEM bolt from bottom of alternator (location C), leaving alternator in place on mount. 
 
� 016'���+H�VJG�VJGTOQUVCV�JQWUKPI�QP�[QWT�GPIKPG�NQQMU�NKMG�VJG�QPG�KP�(KIWTGU���CPF����

FQ�UVGRU���CPF����UMKR�UVGR�����CPF�FQ�UVGRU����VJTQWIJ�VJG�GPF��
� +H�[QWT�VJGTOQUVCV�JQWUKPI�NQQMU�NKMG�VJG�QPG�KP�(KIWTGU���CPF����UMKR�UVGRU���CPF����

CPF�FQ�UVGRU����VJTQWIJ�VJG�GPF��
  
 9.     Remove bracket and four bolts from thermostat housing.  Keep two of the bolts.  Install DewEze 

thermostat bracket (21) using two OEM bolts (22). 
  
10. Refer to Figure 2: Hold a straight edge flat on thermostat housing boss (location A).  Boss on 

alternator (location C) should be in line with location A.  If alternator bosses are too far back, place 
.020” shims (17) at locations C and D behind pump bracket (1). 

 
11. Refer to Figure 6: Hold a straight edge flat on thermostat housing boss (location A).  Boss on 

alternator (location C) should be in line with location A.  If not, loosen the three thermostat housing 
bolts (location F) and pry housing forward until it is in line with the alternator.  If thermostat housing 
will not line up, place .020” shims (18) at locations C and D behind pump bracket (1). 

  
12. Refer to Figure 1: Hold bracket in place and insert 10mm x 120mm bolt (6) through bracket and into 

bottom alternator hole at Location C.  Thread OEM nut (12) onto bolt.  Insert 5/16 x 5 bolt (5) 
through bracket at Location A, threading 5/16 lock nut (15) on back.  Insert 7/16 x 2 bolt at location 
D, threading 7/16 lock nut (11) on back.  Tighten all bolts. 

 
13. Insert shoulder bolt (8) through DewEze idler pulley (2).  Apply Loctite to bolt threads and mount 

idler onto boss on pump bracket at location E.  Tighten bolt. 

'HZ(]H�



 
14. Install pump onto back of bracket using two 3/8 x 1 1/4 bolts (9) and two 3/8 lock washers (10).  

Install clutch coil onto front of bracket with four wiz flange bolts supplied in clutch package.  Install 
key and clutch pulley onto pump shaft using bolt and heavy washer supplied in clutch package. 

 
15. Install DewEze serpentine belt (18). 
 
16. Connect the hoses to the pump using 45° elbows as specified in the parts list for your size pump. 
� 016'���6KG�VJG�JQUGU�VQ�VJG�UJQEM�VQYGT�CU�UJQYP�KP�(KI����VQ�MGGR�VJG�JQUGU�CYC[�

HTQO�VJG�VWTDQEJCTIGT��
 
17. Run the engine and check for any clearance or alignment problems.  Adjust as needed. 
 
 


